

Page 1 of 7

RAVIMA DEVELOPERS

CTS No. 5764, MIDC Rd, beside Supreme Restaurant, Finolex Chowk, Pimpri Colony, Pune, Maharashtra 411018 27AASFR5116L1ZN Maharashtra

CTS No. 5764, MIDC Rd, beside Supreme Restaurant, Finolex Chowk, Pimpri Colony, Pune, Maharashtra 411018

TO,

Work Order

Work Order No. 203

WO Date: 01/12/2021

SANJAY Kind Attn.:

GSTIN no.:

PAN No:

. PH. No- , Contact Person- SANJAY , $Contact\ No$ -9822018160

SFS FIRE PROTECTION INDIA PVT LTD

Sr.No.	Item Description	Quantity	Unit	Rate Rs.	Amount
	FIRE FIGHTING WORK At Basement 3 Ceiling				
1	FIRE SPRINKLER	19.00	Nos	295.00	5605.00
	FIRE FIGHTING WORK At Basement 3 Ceiling				
2	GI PIPE C CLASS 25MM	43.00	Mtrs	275.00	11825.00
	FIRE FIGHTING WORK At Basement 3 Ceiling				
3	GI PIPE C CLASS 32MM	8.00	Mtrs	300.00	2400.00
	FIRE FIGHTING WORK At Basement 3				
4	Ceiling GI PIPE C CLASS 65MM	12.80	Mtrs	720.00	9216.00
	FIRE FIGHTING WORK At Basement 2				
5	Ceiling GI PIPE C CLASS 65MM	12.80	Mtrs	720.00	9216.00
	FIRE FIGHTING WORK At Basement 2				
6	Ceiling GI PIPE C CLASS 80MM	40.30	Mtrs	920.00	37076.00
	FIRE FIGHTING WORK At Basement 2				
7	Ceiling GI PIPE C CLASS 25MM	146.70	Mtrs	275.00	40342.50
	FIRE FIGHTING WORK At Basement 2				
8	Ceiling FIRE SPRINKLER	57.00	Nos	295.00	16815.00
	FIRE FIGHTING WORK At Basement 1				
9	Ceiling FIRE SPRINKLER	57.00	Nos	295.00	16815.00
	FIRE FIGHTING WORK At Basement 1				
10	Ceiling GI PIPE C CLASS 25MM	139.70	Mtrs	275.00	38417.50

	FIRE FIGHTING WORK At Basement 1				
	Ceiling				
11	GI PIPE C CLASS 80MM	40.30	Mtrs	920.00	37076.00
	FIRE FIGHTING WORK At Basement 1 Ceiling				
12	GI PIPE C CLASS 65MM	12.80	Mtrs	720.00	9216.00
	FIRE FIGHTING WORK At Lower Ground				
13	Floor Ceiling GI PIPE C CLASS 65MM	12.80	Mtrs	720.00	9216.00
	FIRE FIGHTING WORK At Lower Ground				
14	Floor Ceiling GI PIPE C CLASS 80MM	35.00	Mtrs	920.00	32200.00
14	FIRE FIGHTING WORK At Lower Ground	33.00	IVIUS	920.00	32200.00
	Floor Ceiling				
15	FIRE SPRINKLER	41.00	Nos	295.00	12095.00
	FIRE FIGHTING WORK At Lower Ground Floor Ceiling				
16	GI PIPE C CLASS 25MM	102.20	Mtrs	275.00	28105.00
	FIRE FIGHTING WORK At Upper Ground Floor Ceiling				
17	GI PIPE C CLASS 25MM	67.70	Mtrs	275.00	18617.50
	FIRE FIGHTING WORK At Upper Ground				
18	Floor Ceiling FIRE SPRINKLER	23.00	Nos	295.00	6785.00
	FIRE FIGHTING WORK At Upper Ground				
19	Floor Ceiling GI PIPE C CLASS 32MM	4.80	Mtrs	300.00	1440.00
1)	FIRE FIGHTING WORK At Upper Ground	7.00	14162	300.00	1770.00
	Floor Ceiling				
20	GI PIPE C CLASS 40MM	12.10	Mtrs	340.00	4114.00
	FIRE FIGHTING WORK At Upper Ground Floor Ceiling				
21	GI PIPE C CLASS 65MM	11.80	Mtrs	720.00	8496.00
	FIRE FIGHTING WORK At Upper Ground Floor Ceiling				
22	GI PIPE C CLASS 50MM	29.30	Mtrs	530.00	15529.00
	FIRE FIGHTING WORK At First Floor				
23	Ceiling GI PIPE C CLASS 65MM	43.90	Mtrs	720.00	31608.00
	FIRE FIGHTING WORK At First Floor				
24	Ceiling GI PIPE C CLASS 50MM	16.30	Mtrs	530.00	8639.00
۷+	FIRE FIGHTING WORK At First Floor	10.30	14102	330.00	0037.00
^ =	Ceiling	12.22	7.6		440.555
25	GI PIPE C CLASS 80MM	12.30	Mtrs	920.00	11316.00
	FIRE FIGHTING WORK At First Floor Ceiling				
26	GI PIPE C CLASS 32MM	13.60	Mtrs	300.00	4080.00
	FIRE FIGHTING WORK At First Floor Ceiling				
27	GI PIPE C CLASS 25MM	92.40	Mtrs	275.00	25410.00
	FIRE FIGHTING WORK At First Floor				
28	Ceiling FIRE SPRINKLER	57.00	Nos	295.00	16815.00
	FIRE FIGHTING WORK At 2nd Floor				
29	Ceiling FIRE SPRINKLER	77.00	Nos	295.00	22715.00
	or an industry	77.00	1105	275.00	22,13.00
		l	1	ı	Page 2 of 7
					-

	FIRE FIGHTING WORK At 2nd Floor		1		T
	Ceiling				
30	GI PIPE C CLASS 25MM	151.90	Mtrs	275.00	41772.50
	FIRE FIGHTING WORK At 2nd Floor				
31	Ceiling GI PIPE C CLASS 32MM	25.60	Mtrs	300.00	7680.00
	FIRE FIGHTING WORK At 2nd Floor				
32	Ceiling	7.60	Mana	240.00	2594.00
32	GI PIPE C CLASS 40MM FIRE FIGHTING WORK At 2nd Floor	7.00	Mtrs	340.00	2584.00
	Ceiling				
33	GI PIPE C CLASS 50MM	22.00	Mtrs	530.00	11660.00
	FIRE FIGHTING WORK At 2nd Floor Ceiling				
34	GI PIPE C CLASS 65MM	33.30	Mtrs	720.00	23976.00
	FIRE FIGHTING WORK At 2nd Floor				
35	Ceiling GI PIPE C CLASS 80MM	39.50	Mtrs	920.00	36340.00
33	FIRE FIGHTING WORK At 3rd Floor	37.30	141112	920.00	30340.00
	Ceiling		+		
36	GI PIPE C CLASS 80MM	42.20	Mtrs	920.00	38824.00
	FIRE FIGHTING WORK At 3rd Floor Ceiling				
37	GI PIPE C CLASS 65MM	33.50	Mtrs	720.00	24120.00
	FIRE FIGHTING WORK At 3rd Floor				
38	Ceiling GI PIPE C CLASS 50MM	16.00	Mtrs	530.00	8480.00
	FIRE FIGHTING WORK At 3rd Floor				
20	Ceiling	0.10	3.6	240.00	2004.00
39	GI PIPE C CLASS 40MM	9.10	Mtrs	340.00	3094.00
	FIRE FIGHTING WORK At 3rd Floor Ceiling				
40	GI PIPE C CLASS 25MM	155.30	Mtrs	275.00	42707.50
	FIRE FIGHTING WORK At 3rd Floor Ceiling				
41	GI PIPE C CLASS 32MM	23.20	Mtrs	300.00	6960.00
	FIRE FIGHTING WORK At 3rd Floor				
42	Ceiling FIRE SPRINKLER	79.00	Nos	295.00	23305.00
72	FIRE FIGHTING WORK At 4th Floor Ceiling	77.00	1103	275.00	25505.00
43	GI PIPE C CLASS 25MM	142.50	Mtrs	275.00	39187.50
	FIRE FIGHTING WORK At 4th Floor Ceiling				
44	FIRE SPRINKLER	73.00	Nos	295.00	21535.00
45	FIRE FIGHTING WORK At 4th Floor Ceiling	16.80	Mtrs	200.00	5040.00
43	GI PIPE C CLASS 32MM FIRE FIGHTING WORK At 4th Floor Ceiling	10.80	IVIUS	300.00	3040.00
46	GI PIPE C CLASS 40MM	7.70	Mtrs	340.00	2618.00
	FIRE FIGHTING WORK At 4th Floor Ceiling				
47	GI PIPE C CLASS 50MM	16.00	Mtrs	530.00	8480.00
40	FIRE FIGHTING WORK At 4th Floor Ceiling	21.00	M	020.00	20240.00
48	GI PIPE C CLASS 80MM	31.90	Mtrs	920.00	29348.00
49	FIRE FIGHTING WORK At 4th Floor Ceiling GI PIPE C CLASS 65MM	33.20	Mtrs	720.00	23904.00
	FIRE FIGHTING WORK At 5th Floor Ceiling				
50	GI PIPE C CLASS 80MM	31.90	Mtrs	920.00	29348.00
					Page 3 of 7
		_			_

	FIRE FIGHTING WORK At 5th Floor Ceiling		1		1
51	GI PIPE C CLASS 50MM	15.30	Mtrs	530.00	8109.00
	FIRE FIGHTING WORK At 5th Floor Ceiling				
52	GI PIPE C CLASS 65MM	33.20	Mtrs	720.00	23904.00
52	FIRE FIGHTING WORK At 5th Floor Ceiling	7.70	Mtrs	240.00	2(10.00
53	GI PIPE C CLASS 40MM	7.70	IVIUS	340.00	2618.00
54	FIRE FIGHTING WORK At 5th Floor Ceiling GI PIPE C CLASS 32MM	16.80	Mtrs	300.00	5040.00
	FIRE FIGHTING WORK At 5th Floor Ceiling				
55	GI PIPE C CLASS 25MM	142.50	Mtrs	275.00	39187.50
	FIRE FIGHTING WORK At 5th Floor Ceiling				
56	FIRE SPRINKLER	73.00	Nos	295.00	21535.00
	FIRE FIGHTING WORK At 6th Floor Ceiling				
57	FIRE SPRINKLER	73.00	Nos	295.00	21535.00
58	FIRE FIGHTING WORK At 6th Floor Ceiling GI PIPE C CLASS 25MM	148.00	Mtrs	275.00	40700.00
		140.00	WIUS	273.00	40700.00
59	FIRE FIGHTING WORK At 6th Floor Ceiling GI PIPE C CLASS 32MM	16.80	Mtrs	300.00	5040.00
	FIRE FIGHTING WORK At 6th Floor Ceiling				
60	GI PIPE C CLASS 40MM	7.70	Mtrs	340.00	2618.00
	FIRE FIGHTING WORK At 6th Floor Ceiling				
61	GI PIPE C CLASS 50MM	15.30	Mtrs	530.00	8109.00
	FIRE FIGHTING WORK At 6th Floor Ceiling				
62	GI PIPE C CLASS 65MM	33.20	Mtrs	720.00	23904.00
	FIRE FIGHTING WORK At 6th Floor Ceiling	21.00	116	220.00	20240.00
63	GI PIPE C CLASS 80MM	31.90	Mtrs	920.00	29348.00
64	FIRE FIGHTING WORK At 7th Floor Ceiling GI PIPE C CLASS 80MM	31.90	Mtrs	920.00	29348.00
	FIRE FIGHTING WORK At 7th Floor Ceiling	31.70	TVIUS	720.00	273 10.00
65	GI PIPE C CLASS 65MM	33.20	Mtrs	720.00	23904.00
	FIRE FIGHTING WORK At 7th Floor Ceiling				
66	GI PIPE C CLASS 50MM	15.30	Mtrs	530.00	8109.00
	FIRE FIGHTING WORK At 7th Floor Ceiling				
67	GI PIPE C CLASS 40MM	7.70	Mtrs	340.00	2618.00
	FIRE FIGHTING WORK At 7th Floor Ceiling				
68	GI PIPE C CLASS 32MM	16.80	Mtrs	300.00	5040.00
69	FIRE FIGHTING WORK At 7th Floor Ceiling GI PIPE C CLASS 25MM	142.50	Mtrs	275.00	39187.50
		142.30	141112	273.00	39107.30
70	FIRE FIGHTING WORK At 7th Floor Ceiling FIRE SPRINKLER	73.00	Nos	295.00	21535.00
	FIRE FIGHTING WORK At 8th Floor Ceiling				
71	GI PIPE C CLASS 100MM	4.50	Mtrs	1100.00	4950.00
	FIRE FIGHTING WORK At 8th Floor Ceiling				
72	FIRE SPRINKLER	83.00	Nos	295.00	24485.00
	FIRE FIGHTING WORK At 8th Floor Ceiling				
73	GI PIPE C CLASS 32MM	11.10	Mtrs	300.00	3330.00
74	FIRE FIGHTING WORK At 8th Floor Ceiling	167.40	Mtrs	275.00	46035.00
	GI PIPE C CLASS 25MM	107.40	IVIUS	275.00	40033.00
75	FIRE FIGHTING WORK At 8th Floor Ceiling GI PIPE C CLASS 40MM	11.66	Mtrs	340.00	3964.40
	FIRE FIGHTING WORK At 8th Floor Ceiling	11.00	1.1110	570.00	3,01.10
76	GI PIPE C CLASS 65MM	33.20	Mtrs	720.00	23904.00
					!

	FIRE FIGHTING WORK At 8th Floor Ceiling				
77	GI PIPE C CLASS 50MM	14.90	Mtrs	530.00	7897.00
	FIRE FIGHTING WORK At 8th Floor Ceiling				
78	GI PIPE C CLASS 80MM	27.30	Mtrs	920.00	25116.00
	FIRE FIGHTING WORK At 9th Floor Ceiling	21.00			20240.00
79	GI PIPE C CLASS 80MM	31.90	Mtrs	920.00	29348.00
80	FIRE FIGHTING WORK At 9th Floor Ceiling GI PIPE C CLASS 65MM	33.20	Mtrs	720.00	23904.00
	FIRE FIGHTING WORK At 9th Floor Ceiling	33.20	171113	720.00	23701.00
81	GI PIPE C CLASS 50MM	15.30	Mtrs	530.00	8109.00
	FIRE FIGHTING WORK At 9th Floor Ceiling				
82	GI PIPE C CLASS 40MM	7.70	Mtrs	340.00	2618.00
	FIRE FIGHTING WORK At 9th Floor Ceiling				
83	GI PIPE C CLASS 32MM	16.80	Mtrs	300.00	5040.00
84	FIRE FIGHTING WORK At 9th Floor Ceiling FIRE SPRINKLER	73.00	Nos	295.00	21535.00
	FIRE FIGHTING WORK At 9th Floor Ceiling	73.00	1103	273.00	21333.00
85	GI PIPE C CLASS 25MM	142.50	Mtrs	275.00	39187.50
	FIRE FIGHTING WORK At 10th Floor				
86	Ceiling GI PIPE C CLASS 100MM	10.00	Mtrs	1100.00	11000.00
- 00	FIRE FIGHTING WORK At 10th Floor	10.00	IVIUS	1100.00	11000.00
	Ceiling				
87	FIRE SPRINKLER	52.00	Nos	295.00	15340.00
	FIRE FIGHTING WORK At 10th Floor				
88	Ceiling GI PIPE C CLASS 32MM	15.00	Mtrs	300.00	4500.00
	FIRE FIGHTING WORK At 10th Floor				
00	Ceiling	00.50	1.6		24007.50
89	GI PIPE C CLASS 25MM	90.50	Mtrs	275.00	24887.50
	FIRE FIGHTING WORK At 10th Floor Ceiling				
90	GI PIPE C CLASS 40MM	16.20	Mtrs	340.00	5508.00
	FIRE FIGHTING WORK At 10th Floor				
91	Ceiling GI PIPE C CLASS 80MM	2.90	Mtrs	920.00	2668.00
	FIRE FIGHTING WORK At 10th Floor			1 1111	
	Ceiling	15.00	1.6		0400.00
92	GI PIPE C CLASS 50MM	15.30	Mtrs	530.00	8109.00
	FIRE FIGHTING WORK At 10th Floor Ceiling				
93	GI PIPE C CLASS 65MM	20.80	Mtrs	720.00	14976.00
	FIRE FIGHTING WORK At 11th Floor				
94	Ceiling GI PIPE C CLASS 65MM	5.60	Mtrs	720.00	4032.00
	FIRE FIGHTING WORK At 11th Floor		1		1052.00
	Ceiling				
95	GI PIPE C CLASS 40MM	12.70	Mtrs	340.00	4318.00
93	LUIDU ELCHTING WODIZ AZ 1141 EL				
93	FIRE FIGHTING WORK At 11th Floor Ceiling		1	I	11102.00
96	Ceiling GI PIPE C CLASS 50MM	21.10	Mtrs	530.00	11183.00
	Ceiling GI PIPE C CLASS 50MM FIRE FIGHTING WORK At 11th Floor	21.10	Mtrs	530.00	11183.00
96	Ceiling GI PIPE C CLASS 50MM FIRE FIGHTING WORK At 11th Floor Ceiling				
	Ceiling GI PIPE C CLASS 50MM FIRE FIGHTING WORK At 11th Floor	21.10	Mtrs	300.00	5250.00
96	Ceiling GI PIPE C CLASS 50MM FIRE FIGHTING WORK At 11th Floor Ceiling				

	FIRE FIGHTING WORK At 11th Floor				
98	Ceiling FIRE SPRINKLER	41.00	Nos	295.00	12095.00
	FIRE FIGHTING WORK At 11th Floor Ceiling				
99	GI PIPE C CLASS 25MM	67.80	Mtrs	275.00	18645.00
100	FIRE FIGHTING WORK 25mm dia Sprinkler Drain Ball Valve 25MM SPRINKLER DRAIN VALVE	30.00	Nos	1250.00	37500.00
100		30.00	Nos	1250.00	3/300.00
	FIRE FIGHTING WORK Sprinkler line from Pump Room to Basemen				
101	GI PIPE C CLASS 150MM	7.00	Mtrs	1800.00	12600.00
	FIRE FIGHTING WORK Sprinkler line from				
102	Pump Room to Basemen GI PIPE C CLASS 150MM	33.00	Mtrs	1800.00	59400.00
	FIRE FIGHTING WORK Sprinkler Header				
103	Butterfly Valve 50MM BUTTERFLY VALVE	1.00	Nos	2000.00	2000.00
	FIRE FIGHTING WORK Sprinkler Header				
104	Butterfly Valve 65MM BUTTERFLY VALVE	6.00	Nos	2450.00	14700.00
	FIRE FIGHTING WORK Sprinkler Header				
105	Butterfly Valve 80MM BUTTERFLY VALVE	18.00	Nos	2850.00	51300.00
	FIRE FIGHTING WORK Sprinkler Header				
106	Butterfly Valve 100MM BUTTERFLY VALVE	2.00	Nos	3200.00	6400.00
	FIRE FIGHTING WORK 80mm Dia				
107	Sprinkler Drain water Riser GI PIPE C CLASS 80MM	99.00	Mtrs	920.00	91080.00
	FIRE FIGHTING WORK For Fire Sprinkler				
108	riser from Basement 3 GI PIPE C CLASS 150MM	100.00	Mtrs	1800.00	180000.00

Contract Amount (A)	2150467.40
Total GST (B)	387084.24
Total (A + B)	2537551.64

RUPEES TWENTY-FIVE LAC THIRTY-SEVEN THOUSAND FIVE HUNDRED FIFTY-TWO ONLY.

GENERAL TERMS & CONDITIONS :-

- 1 All material should be get approved from Project In Charge before application.
- 2 Measurement of actual work done shall be taken time to time jointly by company's engg. & contractor & shall be record the samein measurement sheet. Whatever be the difference in qty. of work order & actual work done shall be paid / recover after successful completion of entire work of bldg.
- 3 You will keep your Engineer at site & joint measurement will be recorded in measurement book.
- 4 You will clean the site after completion of work . If not cleaning charges will be debited to you.
- Follow all the safety precautions at site & government regulation like labour insurance, minimum wages, child labour & any type of accident in your scope.
- 6 You will maintain all the required tools & tackles with proper mechanical staff.
- 7 Employer will provide water & electricity at site.
- 8 The employer will not be responsible for any power cut at site.
- 9 You will maintain a progress bar chart & present an activity schedule to the employer before starting the work.
- 10 You will submit a proper gurantee card for the work carried out.
- 11 All the work will be carried out as per the direction of structural consultant. Any rework will be carried out at your cost.
- 12 You will submit running bills by fortnightly.
- 13 You will maintain house keeping during the work.
- 14 Contractor will remain responsible for any accidents during executions and transeports and travelling
- 15 All work shall be carried out upto the full satisfaction of Project In charge.

PA	PAYMENT TERMS & CONDITIONS :-					
1 2 3	Bill will be accepted for or Deduction for Retention Deduction for TDS & other	completed work only as per mo Amount as applicable ner taxes as applicable.	entioned in payment sched	ule.		
Accep	oted By Agency	Project Incharge	Chief Engineer	HOD-CBD	Director	

Page 7 of 7